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Werth 3%} 30| = Werth 2x}~—-l 30|l Z28 Werth Nano £d =Z
25 3D-WFP 25 NFP

- CNC HE|MA 3xHEH7| (3x+3 HICI FtmH[2H
CHEY 2X, 7N HOE AL
- 2|22 Xt MPE (1SO 10360)
[SHFY Al
- E1 = (1.5+L/200) #m
— E2 = (1.9+L/150) #m (20° C=%1K, 5x Lens)
[T £H32H
- E1 = (1.8+L/200) #m
- E2 = (2.24+L/150) #m
— E3 = (2.9+L/100) #«m (20° C=*1K, 5x Lens)
0.1xm

* -EBHO

. ZHHO| (mm) : X200 x Y150 x Z150
- Werth & 0.9x — 4.3x (102t : E5)
- Z|E™HE 5tE : 20Kg
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- CNC ZE|MA 3XI¥EH7| (3X+ H|C|R FHm2H)
CHEE TX, AN HOE AL

- Z5| 22Xt MPE (1SO 10360)

[EXA™H 9|]

- E1 = (1.5+L/200) #m
= (1.9+L/150) #m (20° C=*1K, 5x Lens)

[’.‘_"iil £¥37H

— E1 = (1.8+L/200) #m

- E2 = (2.2+L/150) #m

— E3 = (2.9+L/100)#m (20° C=1K, 5x Lens)
2dls : 0.1#m
- ZHHL| (mm) : X200/300/400 x Y200 x Z200
- Werth & 0.9x — 4.3x (102H/| : EF)
- F I EHE SHE - 20Kg

[SM] HEAM Z2Y A 22 2D-WFP, 3D-WFP,

LP, LLP, CFP WCP, WIP, 90° 0|3,
72| HEJ|s, 22| HO|Z

- CNC HE|MAM 3XHEH7| (3XH H|C|2 7im[2})
- DHEEIXE FE, 7|AA HOZ AE
. H{ 322 MPE (1SO 10360)
[EXEE 2]
- E1 = (1.5+L/200) #m
(1.9+L/150) #«m (20° C#1K, 5x Lens)
32H
(1.84L/200) #m
(2.2+L/150) #m
(2.94+L/100) #m (20° C=*1K, 5x Lens)
P 0.1pm
| (mm) : X400/600/800/1000/1500 x Y400/
600/1000 x Z150/300
- Werth & 0.9x — 4.3x (10EtA| : E§)
: EIEH’-."é% 5t& 1 50Kg
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- CNC HE|MM 3x¥EH7| (3XHY H|C|L 7im|2})
olsEaIXIE 7=, 1LY 37| HOZ ALE

- X[C]5| 2} MPE (1SO 10360)

[ix-lx-ll:ll- |]

- E1 = (1.5+L/200) #m
— E2 = (1.94L/150) #m (20° C=*1K, 5x Lens)
[Hx £H3Z]
— E1 = (1.84+L/200) #m
- E2 = (2.2+L/150) #um
— E3 = (2.9+L/100)#m (20° C=1K, 5x Lens)

s : 0.1xm

ZXHS (mm) : X500~1500 x Y600~2500 x Z450~1200
- Werth & 0.9x — 4.3x (10EHA| : EF)

[SM] MEA Z2H, AjlY T2H, 2D-WFP, WLP,

LLP, 90° OJ3], 314 3% HICI2 7z,

2E{2| HO0|S




||||||||I‘|||||||||‘|||||||||‘|||||||||‘I||||||||‘|||||||||‘||||||||I‘IIIIIIIII‘IIIIIIIII |||||||||‘|||||||||‘+

3% EFI| [ 83 ()

-CNC IHE HE|MA 3XHEEH7| (3X+Y H|C|2 7tmHat)
CHEE TX, AN HOE AL
- Z|Ii5{ 22X MPE (1ISO 10360)
EYY 9]
(1.14L/400) #m
(

- Et
- E2 1.5+L/300) #um (20° Cx1K, 5x Lens)

— E1 = (1.4+L/400) #m
- E2 = (1.8+L/300) #m
— E3 = (2.5+L/250) #m (20° C#1K, 5x Lens)
-H8ls - 01um
- ZXHQ (mm) : X250/400 x Y125/200 x Z250
- Werth = 0.6x — 6.8x (10EtA| : £E35])
- Z|HEWE 515 : 30/40Kg
[8M] M=Al Z2H AjfY TZH 2D-WFP, 3D-WFP,

LP, LLP, CFP, WCP, WIP, 90° D],
72l ®E7ls, 2EE| HOIE

- CNC nHE HE|MAM 3XIFSH7| (3xHY HIC|2 7t at)
- DHEEXE X, 1ZY 37| HoY A8
- |52 2% MPE (1SO 10360)
[MA £H37H

— E1 = (0.75+L/500) #m

- E2 = (0.95+L/400) #m
E3 = (1.50+L/300)#m (20° C=%1K, 10x Lens)
S :0.054m
O (mm) : X400~2000 x Y400~1350 x Z200~800
h

[ HI

il
3

=

erth Elg|ME2l SEl 10x DA X
[tHEX™E 5t5 : 150Kg

- [BM] Werth &, MEAM Z2H Al Z2H,
2D-WFP, 3D-WFP, WLP, LLP, CFP, NFP, WCP,
WIP, 90° 0|2, &7z HHJ|s, 2E2| HOIE,
25 7-%

b

—

*CNC ZnHE HE|MAM 3XHHEEYT| (32 HIC|L Fto2h)

- OFEEIXYE X, =0ZM 27| Hoj2 A2

- Z|ti5{ 22Xt MPE (ISO 10360)
[Hx &332 : HEE H|o 7tH 2]
— E1 = (0.254+L/900) #m : Unidirectional
- E1 (0.5+L/900) #m
- E2 = (0.7+L/600) #m
- E3 = (1.5+L/500) #m (20° C%0.5K, 10x Lens)
[HMx 5337 ¥& SP8o]
- E = (0.5+L/600) #m (20° C+0.5K, SP80)
B35 0.01xm
- Zerodur AL AE (F LA $~0)
- ZXH2| (mm) : X400~1000 x Y400~1000 x Z200~600
- Werth EHIZ|MEZl ZEl 10x T™AX
- Z[LHE™E 615 : 150Kg
([8M] MEA Z2H, AjjY ZEH, 2D-WFP, 3D-WFP,
WLP, LLP, CFP, NFP, WCP, WIP, 2E{2| H|0|E
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-CNC 21 d= HE|MAM 3XHEESH7| (3 H|C|2 FtmH|2})
- OMEEIXE X, Z0ZMH Z7] HoE AR
- ZNME JE XS ZX| XS HEWD S7|-HAp HE AJAH
- #5122 Xt MPE (1SO 10360)
[Hx £837 : HEE O 7tH 2]
- E1 = (0.15+L/900) #m : Unidirectional
- E1 = (0.15+L/900) #m
- E2 = (0.25+L/600) #m
- E3 = (0.75+L/600) «um (20° C=#0.5K, 20x Lens)
[Mx| =X&7F: 3D-WFP]
- E = (0.25+L/600) #m (20° C=*0.5K, 3D-WFP)
- 255 : 0.0005#m (0.5nm)
- Zerodur A Y ALE (BYEH+~0)
- ZXHQ (mm) : X400 x Y400 x 7250
- Werth EIZ|MEZl FEl 20x DHHUZX
- ZIIEX™ME 515 : 50Kg
- [&M] 2D-WFP, 3D-WFP, WLP, CFP, NFP, WCP, WIP,
2H2 HOIE

-CNC ZDEE MEA XIYEH7|
-DMEAXE 2E, 2024 37| HE A8
- X[ ]3|} MPE (1SO 10360)
[MA £Y32 : HE SP8o]
- E = (0.5+L/600) «m (20° C+0.5K, SP80)
- 28ls : 0.01#m
- Zerodur AHY ALS (LA $~0)
- ZXFHQ| (mm) : X400~3500 x Y400~1750 x Z200~800
SP80 ZHU AjfL m2H F =
- 2IISHE 53 : 150Kg
- [M] HI™ME 3x1Y H|C|R 702, 2D-WFP, 3D-WFP,
WLP, LLP, CFP, NFP, WCP, WIP, 2E{2| H0o|&

“CNC DHE Ajjd 3XAZHY|
. 9!&1—1/—'X-IEEIx|—4 __r!. %o |71|AI/.A_7| H-||01E.I A}R
- |15 2% MPE (ISO 10360)
[Z&& : ScanCheck@ 400 3D CNC]
- E1 = (2.5+L/120) #m
- E2 = (2.94L/100) #m

- E3 = (4.5+L/ 75)#m (20° C£2K)
[™MEEIX|S : ScanCheck2) 400/600 3D CNC]

— E1 = (1.14L/500) #m

- E2 = (1.5+L/400) #m

- E3 = (2.0+L/300) #m(20° C=%1K)

2&§ls : 0.1#m

ZXHO (mm) : X400 x Y200 x Z200 (Z&3)
ZXHQ (mm) : X400/600 x Y400/650 x Z400/300

(DHHEIXH)
| ZIZ2H
= : 20/150Kg
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3XH X7 |4 85 mu-

-CNC I¥E 2XIel &/ ™E HEZIA AjfY

- 2|52 Xt MPE (1SO 10360)

- E1 = (9.0+L/100) #m

\ o~ — E2 = (9.0+L/ 75)#m, 0.2x Lens (20° C*2K)

Tl - E1 = (4.9+L/100) #m

— - E2 = (4.9+L/ 75)#m, 0.4x Lens (20° C*2K)

o - E1 = (2.5+L/120) #m

. - E2 = (2.9+L/100) #m,

5x Lens or Werth—Zoom (20

Yy . ‘°.01/tm

g = - [SM] 3xtAZ

C+2K)

X400/650 x Y200/400/600 x (2100)
°J=_,=7g7| HE, Werth &, 2D-CAD 2-2}¢!

CNC nHET 2XH¥
2H2| Holg =&

- El

&/1HE USSR
8% A%l 7l (S8)
<) o

-

A

27l
2|IH5{ 82 MPE (ISO 10360)

(9.0+L/100) #m
- E2 = (9.0+L/ 75)
-El=

#m
(4.9+L/100)

i)

3

71

0.2x Lens (20° C+2K)
u
— E2 = (4.9+L/ 75)#m, 0.4x Lens (20° C*2K)
- E1 = (2.5+L/120) #m
- E2 = (2.9+L/100) #m,
5x Lens or Werth—Zoom (20° C*2K)
- 28ls  0.1#m
§ HHEQ[ (mm) : X100 x Y300/600/950 x (Z100)
. M] Werth &, 2D-CAD 2-2t°l
X-ray &5 Mg : 130 / 150 / 190KV
23ls : 0.1¢m
-EHE Il 88 5 : 2kg
Z|tis| 22 %X}, MPE (1SO 10360 7|&)
E1: (2.5+L/200) #m
E2: (2.9+L/150) #m
o

E3: (3.9+L/100) #m, 20° C*1K, 2kg
A8 7ts MM 24 :

Werth H|EZ H|C|2 Ftoz2t
Werth 2|0|X =22 WLP
Werth 2}Q1 80| Z2H LLP
SES

Werth E4 M8 Z2H WFP
Al E

HM=AM ER|H EE ALY m2H
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- X-ray 2F MY : 225 / 450KV
- 2dls 1 0.1#m
-EHE Z0 S8 B : 40kg (75kg)
- X|IN&| 2}, MPE (ISO 10360 7|%)
E1: (2.54L/120) #m
E2: (2.9+L/100) #m
E3: (4.5+L/ 75)#m, 20° C*2K, 10kg
CALE THs MM M
Werth HIEE HIC|R FHo|2t
Werth &l0|X Z2H WLP
Werth 2121 20| ZEE LLP
Werth E4 MR Z2H WFP
HMEA EB|A EE= AY ZE2H

1 0.01gm
-EHE Il 518 5 : 2kg
- 2| IN&|2 2k, MPE (ISO 103607|F)
[HA]
E1: (0.25+L/900) #m : Unidirection
E1: (0.5+L/900) #m
E2: (0.7+L/600) #m
E3: (1.5+L/500) #m, 20° C=*0.1K, 2kg
[STANDARD]
E1: (1.1+L/500) #m
E2: (1.5+L/400) #m
E3: (2.0+L/300)«m, 20° C*1K, 2kg
M8 7S MM 24
Werth H|EZ= H|C|2 7h0|2t
Werth 30| ZTZ2H WLP
Werth 2}Q1 30| Z2H LLP
Werth E4 MG Z2H WFP
HMEM EH E= A m2H

- X-ray 382 M : 225 / 450KV
- 28ls f 0.14m
-EFE 2 §18 BT : 40kg (75kg)
- 2|5 2%}, MPE (ISO 103607|&)
E1: (2.5+L/120) #m
E2: (2.9+L/100) #m
E3: (4.5+L/ 75)#m, 20° C*2K, 1kg
AL Tts MM M
Werth H|EZE H|C|2 7t 2t
Werth 30| Z2H WLP
Werth 2}Q1 2|0|X Z2H LLP
Werth E4& MG T2H WFP
MEAM EQ|7] EE AY Z2H






